Supporting Statement for Paperwork Reduction Act Submissions

Manufactured Home Installation Program Reporting Requirements OMB Control Number 2502-0578

(Form HUD-305, Form HUD-306, Form HUD-307, Form HUD-308, Form HUD-309, Form HUD-312)

A. Justification

 The National Manufactured Housing Construction and Safety Standards Act (the Act) [42 U.S.C. 5400 et. seq., Public Law 93-383], as amended by the Manufactured Housing Improvement Act of 2000, authorizes HUD to establish and enforce construction and safety standards for manufactured homes and model manufactured home installation standards.

To carry out its responsibilities under the Act, the Department has issued the Manufactured Home Construction and Safety Standards (Construction Standards), 24 CFR 3280. These standards incorporate requirements for certain labels and notices to be posted. The Department has also issued the Manufactured Home Procedural and Enforcement Regulations (the Regulations), 24 CFR 3282 and 3283, to enforce the Construction Standards. These regulations require certain reports be made and certain data be maintained.

The Department published a Final Rule to establish the Model Manufactured Home Installation Standards (Model Installation Standards), which required home manufacturers to evaluate their current installation instructions and make necessary revisions to ensure that minimum installation elements are addressed therein. In addition, the Department has published a Final Rule to establish the required Manufactured Housing Installation Program (Installation Program) for the enforcement of the Model Installation Standards in each State that does not have an installation program established by State Iaw [42 U.S.C. 5404]. This supporting statement describes the reporting requirements for the Installation Program.

The Manufactured Home Construction and Safety Standards Act Reporting Requirements under OMB control number 2502-0253 describe the reporting requirements for the Construction Standards, the Regulations, and the Model Installation Standards.

Following is a compilation of the reports, records, labels, notices, and instructions that are required by the Installation Program. The authority in the Act and the CFR are indicated.

Title	Authority by Section (42 U.S.C. 5400)	Authority by Section (24 CFR)
State Plans	605(c)	3286.805, 3286.807
Manufacturer Records	605(c)	3286.102
Retailer Records	605(c)	3286.113, 3286.605, 3286.607
Installer Records	605(c)	3286.411, 3286.413, 3286.507(b)
Installation License	605(c)	3286.207, 3286.209, 3286.211
Trainer Records	605(c)	3286.303
Trainer Registration	605(c)	3286.307, 3286.311, 3286.313
Installation Instructions	605(a)	3286.5
Labels & Notices	605(c)	
Recommendations for Renstallation		3286.7(a)
Retailer Disclosure to Purchaser		3286.7(b), 3286.503(b), 3286.603(a)
Installation Instructions to Purchaser		3286.103(a)
Installation Instructions to Installer		3286.103(b)
Notify of Inappropriate Site		3286.405(b)
Notify Failure to Comply with MHCSS		3286.405(c)
Retailer Notice to Subsequent Installers		3286.405(d)
Installer Provide Certification		3286.111, 3286.411(b)
Installer Provide Instructions to Inspector		3286.503(c)

 The respondents are the 36 States that have installation programs; 131 Manufacturing Facilities comprised of 35 separate Corporations; 327 Retailers in HUD-administered Installation Program States; 2,782 Retailers in non-HUD-administered Installation Program States; 488 Installers in HUD-administered Installation Program States; and 5 Trainers in HUD-administered Installation Program States.

HUD uses the information collected for the enforcement of the Model Installation Standards in each State that does not have an installation program established by State law to ensure that the minimum criteria of an installation program are met.

State Plans – Section 623 of the Act permits any State to assume responsibility for the Federal program within the State after approval of a State plan of enforcement by the Secretary. The State plan must meet the following requirements to provide satisfactory assurance to the Department that the State's plan will adequately enforce the provisions of the Act, the Construction and Safety Standards, and the Regulations. The Manufactured Home Construction and Safety Standards Act Reporting Requirements describe the reporting requirements for State Plans that the Construction Standards, Model Installation Standards, and the Regulations require under OMB control number 2502-0578.

Section 605(c) of the Act provides that each State may implement and administer its own installation program in such a way that it would not be covered by the HUD-administered Installation Program. To be accepted as a fully qualifying installation program, a State installation program must include the following elements:

- a. Installation standards that, in the determination of the Secretary, provide protection to the residents of manufactured homes that equals or exceeds the protection provided by the Model Installation Standards established by the Secretary;
- b. The training and licensing of manufactured home installers; and
- c. Inspection of the installation of manufactured homes.

A state seeking identification as a qualified installation program must submit the completed State Installation Program Certification Form (Form HUD-312).

Manufacturer Records – OMB has issued HUD the control number 2502-0578 for the information collection requirements under the current Manufactured Housing Construction and Safety Standards Program, which currently requires the manufacturer to provide the Department information regarding the construction and shipment of each manufactured home in 24 CFR part 3280.552.

The Installation Program requires the manufacturer to provide the Department and the retailer with initial tracking information about each manufactured home as described in 24 CFR 3286.9(a) and 24 CFR 3286.102(a), respectively. The information required in 24 CFR part 3280.552 under control number 2502-0578 will satisfy the requirements in 24 CFR 3286.9(a). Therefore, 3286.9(a) will not require additional information and is not included in this submission. The reporting requirement for 3286.102(a) requires the manufacturer to this tracking information to the retailer and is accounted for in this submission.

Retailer Records – The Installation Program requires that the retailer track the installations of manufactured homes in States which the Department administers the Installation Program per 24 CFR 3286.113 (see Form HUD-305 and Form HUD-306).

Installer Records – The Installation Program requires that the manufactured home installer certify that the home has been installed properly and have the installation inspected by a qualified inspector per 24 CFR 3286.111 (see Form HUD-309). The manufactured home installer is required to maintain these records along with the foundation designs used to install the home per 24 CFR 3286.413.

Installation License – Section 605 of the Act requires licensing of manufactured home installers as a requirement for the installation program. The process and requirements for obtaining a license is described in 24 CFR 3286.207. Form HUD-307 is the HUD Manufactured Home Installer Application.

Trainer Records –Qualified trainers are required to maintain attendance records, provide attendees certificates of completion of training, and maintain all records for 5 years. The records of trainers must be made available to the Departments upon request per 24 CFR 3286.303.

Trainer Registration – The process and requirements for obtaining trainer's qualification is described in 24 CFR 3286.307. The applicant must demonstrate the appropriate experience, list other states in which they possess similar training, registration, and certify that training curriculum is in accordance with the requirements established. Form HUD-308 is the HUD Manufactured Home Installation Trainer Registration Application.

Installation Instructions – OMB has issued HUD the control number 2502-0578 for the information collection requirements under the current Manufactured Housing Construction and Safety Standards Program, which currently requires manufacturer to provide each manufactured home with installation instructions in 24 CFR part 3280.306 and 24 CFR part 3285.2. Therefore, 3286.9(b) is not included in this submission.

Temporary installation instructions are required in 24 CFR 3286.5(c)(2) and is included with this submission.

Labels and Notices – The Installation Program requires specific notices and disclosure to be provided to specific parties during the manufactured home installation process in 24 CFR 3286. The purpose for the reporting system is to assure that the Department can determine whether a particular home was being installed in a State that is administering its own qualifying installation program or is being installed in a State where the Department would be administering the installation requirements. Since the entities involved in the construction, sale or lease, and installation of the home are separate entities, it is necessary for the Department to know the entities performing and responsible for each task in the process. This information is used to locate and use the home in the manner intended. By section, the labels and notices are listed below:

3286.7(a) Recommendations for Reinstallation – Manufacturers must provide a recommendation in each consumer manual that any home that has been reinstalled after its original installation should be inspected after it is set up.

3286.7(b) Retailer Disclosure to Purchaser – Retailers must disclose to the purchaser that the manufactured home must be installed in accordance with applicable Federal and State law, including the requirements for a third-party inspection. (See also 3286.503(b) and 3286.603(a)).

3286.103(a) Installation Instructions to Purchaser – The retailer must provide the purchaser with a copy of the manufacturer's DAPIA-approved installation instructions for the home; or an installation design and instructions that have been reviewed and certified by licensed engineer or registered architect as providing a level of protection that equals or exceeds the protection provided by the Model Installation Standards.

3286.103(b) Installation Instruction to Installer – When the retailer agrees to provide any set-up in connection with the sale of the home, the retailer must provide a copy of the same DAPIA-approved installation instructions or, as applicable, installation design and instructions to each company or, in the case of a sole proprietor, individual who performs set-up or installation work on the home.

3286.405(b) Inappropriate Site – If the installer determines that the home cannot be installed properly at the site, the installer must notify the purchaser or other person with whom the installer contracted for the installation work and notify the retailer that contracted with the purchaser for the sale of the home.

3286.405(c) Failure to Comply with Manufactured Home Construction and Safety Standards – If the installer notices and recognizes failures to comply with the construction and safety standards in part 3280 of this chapter prior to beginning any installation work, during the course of the installation, or after the installation work is complete, the installer must notify the manufacturer and retailer of each failure to comply.

3286.405(d) Retailer Notification to Subsequent Installers – The retailer must provide a copy of the notification received in paragraphs (b) and (c) of this section to any subsequent installer.

3286.411(b) Installer Provide Certification – The installer must provide its original certification to the retailer and must provide a copy of the certification to the purchaser.

3286.503(c) – Installation instructions must be made available to the inspector at the installation site by the installer.

- 3. Information technology is not a factor affecting the level of burden. The reports required and records kept are specified in terms of performance and results. The Department permits significant leeway in how database reports are generated and stored.
- 4. A review of the requirements indicates there is duplication in the reporting requirements in 3282.552 (existing Form HUD-302) and proposed 3286.9(a). HUD will accept existing Form HUD-302 to meet the collection requirements in 3282.552 and 3286.9(a), therefore. When the Department promulgates its rules for the Construction and Safety Standards and the Regulations, the Secretary has consistently found that, in accordance with U.S.C. 605, that impact on small entities is insignificant. However, upon completing the final rule for the Installation Program, the Secretary has concluded that there may be a significant impact on small entities during the Regulatory Flexibility Analysis. This impact can be reviewed in the Findings and Certifications Section of the final rule. Numerous alternatives were considered during the development of the final rule. Many of the alternatives were adopted during the development of the final rule to reduce the economic impact on small entities. In addition, many alternatives to the final rule were not accepted due to the statutory requirements of the Act and the importance of educating the consumer during the manufactured home installation process. A complete list of the alternatives can be reviewed in the Final Regulatory Flexibility Analysis that is part of the Regulatory Flexibility Analysis portion of the final rule.
- 5. Currently, the Department requests the information only when a manufactured home is constructed. Without the labels, notices, and instructions, HUD and the State Administrative Agencies will not be able to locate manufactured homes with defects before they are installed. The additional items in this submission reflect the need for the Department to administer an Installation Program for manufactured homes in States that do not administer such a program. The proposed labels, notices, instructions, and record keeping are necessary to locate manufactured homes installed improperly. The burden imposed is minimal and cannot be reduced.
- 6. The special circumstance requiring respondents to report information to the Department more than quarterly is requested because the SAA Reports are done monthly.
- 7. In accordance with 5 CFR 1320.8(d), this information collection soliciting public comments was announced in the *Federal Register as stated below*:

A 60-day Federal Register Notice inviting public comments was published on April 27, 2018, 83 FR 18586. No comments were received.

A 30-day Federal Register Notice inviting public comments was published on July 13, 2018, 83 FR 32675. No comments were received.

A copy of both published notices is included in this package.

- 8. There are no gifts to respondents, other than remuneration of contractors or grantees.
- 9. There is no assurance of confidentiality.
- 10. There is no sensitive information involved.
- 11. Burden Hours Estimated Number of Respondents, Responses, and Burden Hours Per Annum

Manufactured Housing Installation Program Burden Hours Per Annum								
	Number of Respondents	Frequency of Response	Responses per Annum	Hours Per Response	Annual Burden Hours	Hourly Cost	Annual Cost	Method of Providing Information
States with Installation Program			1			1		-
\$3286.805(a) – State Installation Program Certification Form HUD-312	36.00	1.00	36.00	2.00	72.00	\$40.00	\$2,880.00	Fax Mail Electronic
§3286.807(a) – State Installation Program Recertification Form	36.00	1.00	36.00	1.00	36.00	\$40.00	\$1,440.00	Fax Mail Electronic
§3286.809(a) – State Voluntary withdraw from administering its own program	36.000	0.03	1.08	2.00	2.16	\$40.00	\$86.40	Fax Mail Electronic
Subtotal	36	2.03	73.08		110.16		\$4,406.40	
Manufacturing Corporations								
\$3286.5(c)(2) - Manufacturer's temporary installation instructions	35.00	1.00	35.00	20.00	700.00	\$75.00	\$52,500.00	Fax Mail Electronic
Subtotal	35.00	1.00	35.00		700.00		\$52,500.00	
Manufacturing Facilities								
§3286.7(a) -Manufacturer's notice in the consumer manual	131.00	511.00	66,941.00	0.17	11,379.97	\$15.00	\$170,688.55	Hard Copy
§3286.102(a) - Manufacturer providing notice to retailer at time of shipment	131.00	30.00	3,930.00	0.17	668.00	\$15.00	\$10,021.50	Fax Mail Electronic
§3286.102(b) - Manufacturer's notice in the installation instructions	131.00	30.00	3,930.00	0.17	668.00	\$15.00	\$10,021.50	Hard Copy
§3286.103(a)(2) – Manufacturer and DAPIA approval of installation designs and instructions that differ from standard instructions	131.00	6.00	786.00	2.50	1,965.00	\$75.00	\$147,375.00	Fax Mail Electronic
Subtotal	131.00	577.00	75,587.00		14,681.00		\$338,,106.55	
Retailers in HUD-administered Inst	allation Program S	itates						
§3286.103(a) – Retailer providing installation instructions to the purchaser	327.00	20.00	6,540.00	0.17	1,112.00	\$15.00	\$16,680.00	Hard Copy
§3286.103(b) – Retailer providing installation instructions to the installer	327.00	17.00	5,559.00	0.17	945.03	\$15.00	\$14,175.45	Hard Copy Electronic

Manufactured Housing Installation Program Burden Hours Per Annum

Information Collection	Number of Respondents	Frequency of Response	Responses per Annum	Hours Per Response	Annual Burden Hours	Hourly Cost	Annual Cost	Method of Providing Information
§3286.113(a) – Retailer providing additional tracking information to HUD – Form HUD-305(§3286.605)	327.00	20.00	6,540.00	0.25	1,635.00	\$15.00	\$24,525.00	Fax Mail Electronic
§3286.113(b) – Retailer providing installation information to HUD – Form HUD-306 (§3286.605)	327.00	20.00	6,540.00	0.25	1,635.00	\$15.00	\$24,525.00	Fax Mail Electronic
§3286.113(d) – Retailer correcting information (§3286.605)	327.00	2.00	654.00	0.25	163.50	\$15.00	\$2,452.50	Fax Mail Electronic
§3286.113(e) – Retailer record retention requirement (§3286.607)	327.00	1.00	327.00	48.00	15,696.00	\$15.00	\$235,440.00	Hard Copy Electronic
§3286.405(d) – Retailer notification to subsequent installers	327.00	0.20	65.40	0.25	16.35	\$40.00	\$640.00	Hard Copy Electronic
Subtotal	327.00	80.2	26,225.00		21,203.00		\$301,757.95	
Retailers in non HUD-administ	ered Installation	Program States	\$					
§3286.7(b) - Retailer disclosure before sale	2,782.00	14.00	38,948.00	0.17	6,621.00	\$15.00	\$99,315.00	Hard Copy
Subtotal	2,782.00	14.00	38,948.00		6,621.00		\$99,315.00	
Installers in HUD-administered	Installation Pro	gram States						
\$3286.111(a)(1) – Installer conducting installation certification – Form HUD- 309(\$3286.411(a), 3286.507(b))	488.00	7.00	3,416.00	0.5	1,708.00	\$40.00	\$68,320.00	Hard Copy
§3286.111(a)(2) – Inspector must verify installation	488.00	7.00	3,416.00	3.35	11,443.60	\$100.00	\$1,144,360.00	Hard Copy
§3286.111(b) – Installer providing installation certification to purchaser (§3286.411(b), 3286.507(b))	488.00	7.00	3,416.00	0.17	582.720	\$15.00	\$8,710.80	Hard Copy
§3286.207 – Installation license application, w/required information – Form HUD-307	488.00	1.00	488.00	2.50	1,220.00	\$40.00	\$48,800.00	Fax Mail Electronic
§3286.211(b) – Installation license renewal	488.00	1.00	488.00	1.00	488.00	\$40.00	\$19,520.00	Fax Mail Electronic
§3286.405(b) – Installer notification of inappropriate site	488.00	0.07	344.16	0.5	17.08	\$40.00	\$683.20	Hard Copy Electronic
§3286.405(c) – Installer notification of failure to comply with MHCSS	488.00	0.07	34.16	0.5	17.08	\$40.00	\$683.20	Hard Copy Electronic
§3286.413 – Installer recordkeeping requirements	488.00	1.00	488.00	48.00	23,424.00	\$40.00	\$936,960.00	Hard Copy Electronic
\$3286.503(c) –Installer providing instructions to inspector	488.00	7.00	3,416.00	0.5	1,708.00	\$40.00	\$68,3200.00	Hard Copy Electronic
	488.00	30.36	15,196.32		40,606.48		\$ 2,911,237.20	
Trainers in HUD-administered	Installation Proc	aram States						
§3286.303(b) – Trainers required to keep attendance records	5.00	1.00	5.00	104.00	520.00	\$15.00	\$7,800.00	Hard Copy Electronic
§3286.303(c) – Trainers required to provide completion certificates	5.00	20.00	100.00	0.17	17.00	\$60.00	\$1,020.00	Hard Copy
§3286.307 – Trainer registration application, w/required information – Form HUD-307	5.00	1.00	5.00	2.00	10.00	\$60.00	\$600.00	Fax Mail Electronic
§3286.307(c)(2) – Other trainer qualification required (Certification of curriculum)	5.00	1.00	5.00	0.5	2.5	\$60.00	\$150.00	Fax Mail Electronic

Information Collection	Number of Respondents	Frequency of Response	Responses per Annum	Hours Per Response	Annual Burden Hours	Hourly Cost	Annual Cost	Method of Providing Information
§3286.313 – Expiration and renewal of trainer qualification	5.00	1.00	5.00	1.00	5.00	\$60.00	\$300.00	Fax Mail Electronic
Subtotal	5.00	24.00	120.00		554.50		\$9,870.00	
TOTALS	3,804.00	729.00	171,185.00		127,007.00		\$3,717,193.10	

The hourly costs are based on estimates as follows:

The \$54/hr is based on the average rate a retailer charges per hour equating to \$113k per year The \$40/hr is based on the average rate an installer charges per hour equating to \$80k per year The \$60/hr is based on the average rate trainers charge per hour equating to \$125k per year The \$77/hr is based on the average engineer rate equating to \$160k per year

12. Start-up costs include the following non-recurring costs: (1) the initial drafting of disclosures and notices; and (2) the purchase of computers, equipment, and/or filing cabinets used for the collection, processing, or maintaining information. Start-Up Costs - Estimated Number of Respondents, Responses, and Start-Up Costs.

Information Collection	Description of Cost	Number of Respondents	One-Time Cost	Total One- Time Cost
Manufacturing Corporations				
§3286.7(a) -Manufacturer's notice in the consumer manual	One-time development of the disclosure	35	\$75	\$2,625
§3286.7(a) -Manufacturer's notice in the consumer manual	Initial placement of notice in the consumer manual	35	\$15	\$525
\$3286.102(b) - Manufacturer's notice in the installation instructions	One-time development of the disclosure	35	\$75	\$2,625
§3286.102(b) - Manufacturer's notice in the installation instructions	Initial placement of notice in the installation instructions	35	\$15	\$525
Subtotal		35		\$6,300
Retailers in HUD-administered Installation Program States	š			
§3286.113(e) – Retailer record retention requirements (§3286.607)	File cabinets and computer disk space	327	\$100	\$32,700
Subtotal		327		\$32,700
Retailers in non-HUD-administered Installation Program S	tates			
§3286.7(b) - Retailer disclosure before sale	One-time development of the disclosure	2,782	\$75	\$208,650
Subtotal		2,782		\$208,650
Installers in HUD-administered Installation Program States	S			
§3286.413 - Installer recordkeeping requirements	File cabinets and computer disk space	488	\$100	\$48,800
Subtotal		488		\$48,800
Trainers in HUD-administered Installation Program States				
§3286.303(b) - Trainers required to keep attendance records	File cabinets and computer disk space	5	\$100	\$500
Subtotal		5		\$500
Totals		3,638		\$296,950

Manufactured Housing Installation Program Start-Up Costs

13. Estimated cost to the Federal Government

This estimated cost to the Federal Government is based on the average salary of persons working on such tasks as a GS-14 pay grade; we have used a figure of \$62/hour for these salary costs. This figure is also used in the additional paperwork estimates in this office.

```
Manufacturer information to HUD - 10 hours/week @ $62.00 per hour = $620 per week $620 per week x 52 weeks = $32,240 per year
Retailer installation information to HUD - 10 hours/week @ $62.00 per hour = $620 per week $620 per week x 52 weeks = $32,240 per year
Installation license application - 4 hours per application x 488 applications = 1,952 hours $62 per hour x 1,952 hours = $121,024 per year
Trainer registration application - 4 hours per application x 5 applications = 20 hours $62 per hour x 20 hours = $1,240 per year
State Installation Program Certification Review
40 hours per plan x 36 plans = 1440 hours per year
Grand Total = $276,024 per year
```

- 14. This is a reinstatement, with change, of a currently approved collection for which approval has expired. Upon implementation of the Installation Program, installers of manufactured homes will be required to obtain a license and complete training. In addition, manufacturers and retailers will be required to provide HUD with specific information regarding the homes that they sell and install.
- 15. The results of the information collection will not be published.
- 16. We are not seeking approval to avoid displaying the expiration date.
- 17. There are no exceptions to the certification statement identified in item 19 of the OMB 83-I.

B. Collections of Information Employing Statistical Methods

There is no statistical methodology involved in this collection.